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1. 'X�Y}ñ, XbN (2, 9)5µ, YbN (−1, 4)5µ��T = 2X − 4Y , �¿à

(i) X�YC�T15µ;

(ii) Ê	Ý��P, OT+y−7�23 �^£Ý×ì&�

2. 'X1, · · · , Xn
×à�^øÍ�

(i) �JXn+1 = (nXn + Xn+1)/(n + 1);

(ii) ¿à(i), �JnS2
n+1 = (n− 1)S2

n + (n/(n + 1))(Xn+1 −Xn)2
�

3. 'XbFn,m5µ��

T =
(n/m)X

1 + (n/m)X�

�OT�p.d.f., ¼�h
£×ð�5µ, ¬��¢ó�

4. 'X1, · · · , Xn
×àã E(λ)5µX®ß��^øÍ��JnX(1)� Xb8!Ý5

µ�

5. 'X1, · · · , Xn
×àãU [−2, 3]5µX®ß��^øÍ, �X(1) ≤ X(2) ≤ · · · ≤
X(n)�Í5�Ù����R = X(n) −X(1)�

(i) �OR�p.d.f.;

(ii) �®X(n)^£[e�£×r.v., ¬��J��


